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Instructions

® Use black ink or ball-point pen.

® Answer Question 1 in Section A. You must answer two questions from Sections
B and C - this means either two questions from Section B or one question
from Section B and one question from Section C. Write between 250 and 350
Chinese characters for each question you have chosen from Sections B and C.

® We recommend you spend 30 minutes on Section A: Translation.

® Answer the questions in the spaces provided
— there may be more space than you need.

® Dictionaries are not allowed in this examination.

® Copies of works are not allowed in this examination.

Information

® The total mark for this paper is 120.
® The marks for each question are shown in brackets:
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Check your answers if you have time at the end.
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Use of Chinese characters
All passages and questions are printed twice, once in traditional/full characters and once

in simplified characters.

Questions in traditional/full characters begin on page 3.
Questions in simplified characters begin on page 9.

Answer only one set of questions. Write all your answers in the Answer Booklet.
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TRADITIONAL/FULL CHARACTERS

SECTION A: TRANSLATION
1 N A BRI T 0L

The aims of the two-child policy are to increase the birth rate and reduce the percentage
of elderly people in China.

Last week a journalist interviewed some young married couples who live in Shanghai.
Many of them feel that because of the high costs of living, they can only afford to have

one child. Some women said that they do not want to give up their careers to become
mothers.

Will the government be able to change people’s minds?

(Total for Question 1 = 20 marks)

TOTAL FOR SECTION A =20 MARKS
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TRADITIONAL/FULL CHARACTERS

Answer TWO questions.

Choose two questions from Section B OR
one question from Section B and one question from Section C.

Write between 250-350 characters in response to each question.

SECTION B: WRITTEN RESPONSE TO WORKS (LITERARY TEXTS)

(& BT ) (EE & X9F)

W4T TR AR ZBE R

(Total for Question 2 = 50 marks)

(M EFE) FE HRiEgFT)

AIVER AL (REMHE) P ARATHEAL. FRIEFES,

(Total for Question 3 = 50 marks)

)y (k% &)

AT DA TR B B K B E R R R %o

(Total for Question 4 = 50 marks)
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TRADITIONAL/FULL CHARACTERS

SECTION C: WRITTEN RESPONSE TO WORKS (FILMS)

5 (GRR&E—F) (B8 BRAFE)

IR 3E L KGR RBAE oy IR Ae St

(Total for Question 5 = 50 marks)

6 (tLtRMER) (Fi® T IF)

AT R NEREE A AR il B R AT R RE .

(Total for Question 6 = 50 marks)

W

7 (RAKBEMBRRR) (Bg FHE¥E)

AT REMNEGFRATRGEE,

(Total for Question 7 = 50 marks)

TOTAL FOR SECTIONS B & C =100 MARKS
TOTAL FOR PAPER = 120 MARKS
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SIMPLIFIED CHARACTERS

SECTION A: TRANSLATION

1 SN BOCT R R O

10

The aims of the two-child policy are to increase the birth rate and reduce the percentage

of elderly people in China.

Last week a journalist interviewed some young married couples who live in Shanghai.
Many of them feel that because of the high costs of living, they can only afford to have

one child. Some women said that they do not want to give up their careers to become
mothers.

Will the government be able to change people’s minds?

(Total for Question 1 = 20 marks)

TOTAL FOR SECTION A =20 MARKS
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SIMPLIFIED CHARACTERS

Answer TWO questions.

Choose two questions from Section B OR
one question from Section B and one question from Section C.

Write between 250-350 characters in response to each question.

SECTION B: WRITTEN RESPONSE TO WORKS (LITERARY TEXTS)

=R ™ Q#9485 (EH  § L5

WitshF "R AR 89 FAEFE L

(Total for Question 2 = 50 marks)

KHamEY K HiEH

PHNE B CBZAEY PhefTRAET LA, FRFRES,

(Total for Question 3 = 50 marks)

KHZ» HfH  FR)

AT e ATiE 1 £ ALY B R BT £,

(Total for Question 4 = 50 marks)
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SIMPLIFIED CHARACTERS

SECTION C: WRITTEN RESPONSE TO WORKS (FILMS)

CERER—E) ($FH BAE)

AT B 3 A JE K 2R3 A2 p 89 AL B e S R

(Total for Question 5 = 50 marks)

ST AE ESWES SN )

AT SN RS RAL A AV Lk 09 R R BT R0 %A

(Total for Question 6 = 50 marks)

KRKEH R 5 (F  #F8L

FATFR BRI R AT F

(Total for Question 7 = 50 marks)

TOTAL FOR SECTIONS B & C =100 MARKS
TOTAL FOR PAPER = 120 MARKS
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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® You may write in TRADITIONAL or SIMPLIFIED characters.

® Answer Question 1 in Section A. You must answer two questions from Sections
B and C - this means either two questions from Section B or one question
from Section B and one question from Section C. Write between 250 and 350
Chinese characters for each question you have chosen from Sections B and C.

® We recommend you spend 30 minutes on Section A: Translation.

® Answer the questions in the spaces provided
— there may be more space than you need.

® Dictionaries are not allowed in this examination.

® Copies of works are not allowed in this examination.

Information

® The total mark for this paper is 120.
® The marks for each question are shown in brackets:
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Check your answers if you have time at the end.
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Answer only one set of questions.
Please indicate which set of questions you intend to work from by putting a cross in one
box below:
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DO -NOTWRITEIN-THIS AREA DONOTWRITE IN-THIS AREA

DO NOT WRITE INTHIS AREA

SECTION A: TRANSLATION
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(Total for Question 1 = 20 marks)

TOTAL FOR SECTION A =20 MARKS
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Indicate your first question choice on this page. You must use this space to answer
ONE question from Section B (Literary Texts). You will be asked to indicate your
second question choice on page 6.

Indicate which question you are answering by marking a cross X in the box. If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross <.

Chosen question number:

Question 2 [] Question 3 [] Question 4 []
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DO -NOTWRITEIN-THIS AREA DONOTWRITE IN-THIS AREA

DO NOT WRITE INTHIS AREA

255

270

285

300

315

330

345

360

375

390

405

420

435

450

465

480

495

510

525

(Total for Question = 50 marks)
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Indicate your second question choice on this page. You must use this space to answer
ONE question from EITHER Section B (Literary Texts) OR Section C (Films).
Your second question must NOT be on the same literary text as your first question.
Indicate which question you are answering by marking a cross X in the box. If you change your
mind, put a line through the box 2 and then indicate your new question with a cross X.

Chosen question number:

Question 2 [] Question 3 [] Question 4 []

Question 5 [] Question 6 [] Question 7 []
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DO -NOTWRITEIN-THIS AREA DONOTWRITE IN-THIS AREA

DO NOT WRITE INTHIS AREA
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(Total for Question = 50 marks)

TOTAL FOR PAPER = 120 MARKS
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